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GEOGRAPHY
[Honours ]
PAPER - VI
Full Marks : 90
Time : 4 hours

The figures in the right hand margin indicate marks

Candidates are required to give their answers in their
own words as far as practicable

Illustrate the answers wherever necessary

GROUP — A

Answer any two questions (within 800 words) :
15%x2

1. Elucidate the reasons of evolving radical approach
in geography as a counter reaction to positivist
approach. How do you differentiate areal differen-
tiation from spatial interaction ? 10+ 5
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2. "Quantitative Revolution brings a revolutionary
change in geographical discussion,” — justify the
statement. Distinguish between absolute space
and relative space. 12+ 3

3. Bring out the Salient features of Marusthali as
a climatic region and suggest some practicable
management measure to abate desertification in
that area. 10+5

4. Account for the growth of population in India
since independence. Mention the problems in-
relation to the growth of population in the present

century. 10+5
GROUP —-B
Answer five questions within 500 words each
selecting one from each Unit : 8x5
Unit — 1

5. 'Geography is called a spatial Science'. Elaborate
the statement by citing the content of

geography. 8
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Or

How would you differentiate systematic
approach from regional approach of styding

geography ? Give proper examples. 3
Unit - 11
6. What is the significance of applied geography in .
the modern day context ? - 8
Oor

Discuss the basic principles of humanistic
approach. 8

Unit = [T

7. What are the major characteristics of Black
Soil in India? Why is it associated with
agro-industry ? 6+2
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Or

Give a brief account on the effects of
geological changes in peninsular India. 8

Unir -1V

8. Do you think that the post-independence growth
of population has retarded the economic
development of India ? 8

Or

Discuss about the development of

engineering industries in West Bengal. 8
UniT - V
9. Account for the Sundarban area as a 'biodiversity
hotspot' zone. 8
Or.

Mention the reasons of maximum-mineral
concentration in the Decan trap region. 8

UG/TIVGEOG/H/VI/13 ( Continued)



(35)

GROUP - C

Answer five questions each within /50 words
selecting one from each Unit : 4x5

UniT =1

10. Is geography a chronological science or
chorological science ? Explain. 4

Or

Who was Ratzel and what is his contribution
in the development of Geography ? 4

Unit ~ II
11. What do you mean by '"Human Ecology' ? 4

Or
Define the term 'Cultural Determinism'. 4

Unit = Il

12. Name four toUrist centres in India with
important cultural heritage. 4
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Or

Mention the significance of Dry Zone
agriculture in India. 4

UniT - IV

13. Make a physiographic comparison between East
and West coast of India. 4

-Or

What are the salient features of industrial
policies in India ? 4

UNIT=-V

14. What are the problems that the alluminium
industry in India faces ? 4

Or

Commént on the nature of NE Monsoon and
its impact on the Tamil Nadu Coast. 4
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